AA i ,;o.|l 3

Jeep Wrangler JK (2007-2017)
Aluminum Front Inner Fenders

Contents: Tools Required:
(1) Left Inner Fender Socket Set
(1) Right Inner Fender Drill
(2) “L” Brackets Drill Bit
(12) MBx1.0 Allen Head Bolts  pjarker
(12) M6 Lock Washers : ; ;
(12) M6 Fiat Washers Tin Snips/ Cutting Tool
(6) Clip Nuts
(1) Allen Wrench
1
©) O
O
'e) O
O

Locate the mounting locations on the fender well.

- O

O

Remove the factory 10mm bolt and loosely install
the supplied "L" bracket. Then slide on the supplied
clip nut.

Loosely install the inner fender liner using the
supplied Allen bolts. Using a marker, mark the hole
locations on the rear most holes. These will need
to be drilled. Remove the fender liners. Tighten the
factory 10mm nut now that the bracket is in the
correct location.

J107327

Trim if needed

©)

Drill a 1/8” pilot hole and then drill the holes to 3/8".
Install the supplied clip nuts. **Note: It may be
necessary to trim the inner fender lip in order to
slide the clip nut on.

Install fender liners using the supplied bolts, lock
washers, and large washers.



AA i ,;o.|l 3

Jeep Wrangler JK (2007-2017)
Fender Inners - Rear

Contents:

(1) Left Inner Fender

) Right Inner Fender

) M6x1.0 Allen Head Bolts
) M6 Flat Washers (Large)
2) M6 Flat Washers (Small)
) Lock Nuts

) Phillips Screws

) Allen Wrench

Tools Required:

Socket Set
Drill

Drill Bit
Marker

Locate the factory mounting locations on fender
well.

) O

Secure the rear fender liners using the supplied
Allen bolts. **Note: The large washer goes on the
tire side of the liner. The small washer goes on the
chassis side of the washer.

J107328

Mark the remaing holes for drilling. Drill a pilot hole
using a 1/8" drill bit. Then drill a 5/32” hole.

O

Install the supplied screws/small washers into the
remaining holes.



	J107327 - Barricade - Aluminum Front Inner Fenders - Textured Black (07-17JK)
	J107328 - Barricade - Aluminum Rear Inner Fenders - Textured Black - Rear (07-17JK)

